Study Guide and Review - Chapter 1

Evaluate each expression.

12. E[?s-* +12) 18.

SOLUTION:
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Evaluate each expression if w=0.2.x=10.y=—, and z =—4
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15. =% +xv
SOLUTION:

2 +xy=(—4) 4 {m}lr,'j“

=16+5

=2]
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21.

Name the sets of numbers to which each value belongs.

1.3

SOLUTION:

The number 1.3 is a real number. Since 1.3 can be expressed as a ratio
% where a and b are integers and b is not 0 it is also a rational number. It

is not a part of the set {...—2,-1,0,1, 2, ...} so it is not an integer. Since
itisnot a part of the set {...0, 1, 2, 3, ...} it is not a whole number or a
natural number.

QR

Simplify each expression.
dx-3v+Tx+5y

SOLUTION:
dx-3y+Tx+5y=dx+7x-3y+3y
=(4+7)x+(-3+5)y

=1lx+2y
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24. MONEY At Fun City Amusement Park, hot dogs sell for $3.50 and 07 XX 3
sodas sell for $2.50. Dion bought 3 hot dogs and 3 sodas during one day A

at the park. '
a. lllustrate the Distributive Property by writing two expressions to SOLUTION.

represent the cost of the hot dogs and the sodas. LA 3
b. Use the Distributive Property to find how much money Dion spent on 6 3 4
food and drinks. x+x(2) 3
SOLUTION: 6 4
a. Since Dion bought 3 of each, you can write the expression in two i
ways. Either add the costs of 1 hot dog and 1 soda together and multiply 6 4
by 3 or multiply the cost of each item by 3 and then add. The expressions x 3
are: 3(3.50 + 2.50) or 3(3.50) + 3(2.50). 2 4
b. f v A ,.;
3(3.50 + 2.50) = 3(3.50) + 3(2.50) 2 '-'|—3["-1
. - i o wh - . :/ -\.-I__-
=10.50+ 7.50 3
~18 =3
Dion spent $18 on food and drinks. Check:
Solve each equation. Check your solution. |r 3J (3 J
2) L2)73
6 3 4
3(1),3(1):3
2\6) 2\3) 4
I
Ll il
4 2 4
1 +1(2) " 3
3 4
1+42 %3
4 4
3.3,
4 4

ld

So, the solution of the equation is x =

b2 |
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Solve each equation or formula for the specified variable.
30. 2k —3m=16fork

SOLUTION:
2k=3m=16
2k =3m+3m=16+3m
2k=16+3m
2k 16+ 3m
2 2
k- 6+ 3

-

33. GEOMETRY Yu-Jun wants to fill the water container at the right. He
knows that the radius is 2 inches and the volume is 100.48 cubic inches.
What is the height of the water bottle? Use the formula for the volume of
a cylinder, V:mjh, to find the height of the bottle.

2in.

SOLUTION:
Substitute r = 2, and V = 100.48 in the formula V = nrzh.
V= nrh
100.48 = (2) %k
100.48 =47h
100.48 _ 47th
4T 41
h=38

The height of the bottle is about 8 inches.
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Solve each equation. Check your solution.

36. |3x+7]|==15
SOLUTION:
Case |:
3.1.'+ 7= —]5
Ix+7-T==15-7
3x=-22
3x 22
3 3
%

. 22 8
There appear to be two solutions, —— and —.
bl

Check: Substitute each value in the or_iginal e_quation.

Bx+7|=-15

o 220 ?" 5
.aL—T}+ =—15
-22+7|=-15
[15]=-15
15215

Case 2
Jx+T7=13
Ix+T7=T=15=T7

Jx=8
v 8
3 3
5

X = =

]

3%

b}

|3.1.'~:-'.i'|——|5
AT D
3 §|-?‘=-|5
LR
8+ 7|=—15
l:'r;—li
1515

Because 15 # —15, the solution set is & .
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Solve each inequality. Then graph the solution 42, -p-13<3(5+4p)-2
set on a number line.
39 —da<24 SOLUTION:

SOLUTION: -p—-13<3(5+4p)-2

—4a<24 —p—=13<335)+34p)-2

—4g 24 -p—=13<15+12p-2

e =d —p-13<13+12p
az-6 -p=13+13<13+12p+13

—p=12p+26
To graph this inequality, draw a solid circle at —6 and draw an arrow

extending to the right. i A
~13p <26
I I o s e e —13p 26
R, el TS B 13~ —13
p=>=2

To graph this inequality, draw an open circle at —2 and draw an arrow
extending to the right.

e —————-
~5-4-3-2-1 0 1 2 3 4 5
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Solve each inequality. Graph the solution set on a number line. 51 |2r+7| < -1
45, -5<d4x+3 <19
SOLUTION:
SOL‘_JT’ ON: Since the absolute value of a number is always positive, the solution set
—-3<4x+3<19 of the inequality is € .
-5-3<4x+3-3<19-3 Since there are no solutions, leave the graph blank.
-8<dx <16
| | | | | ] | | | | |
-8 4d4x 16 S T s s i s | [
FEF —5—-4-3-2-1 0 1 2 3 4 5
-2<x<4d

The solution setis {x|-2<x <4},

To graph, draw an open circle at —2 and an open circle at 4 and draw a
line to connect the circles.

e ————— -
—S—=d g0 W 2 a4
48. |a|+2<13

SOLUTION:

la|+2<15
al+2-2<15-2

|.'.I|-=ii3

=13<a<l3

The solution set is [u ~13<a< 13} .

To graph, draw an open circle at —13 and an open circle at 13 and draw a
line to connect the circles.

o ———— =
—16-12-8 -4 0 4 8 12 16
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